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PROBLEM
STATEMENT

Goku is a professional hiker and. has completed
many hiking expeditions around the world. He
also makes vlogs when he travels and shares his
experience about the hikes. He is planning to
visit the city of Algorythmia which is surrounded
by many Mighty Forts. i
There are N forts surréunding the beautiful city
of Algorythmia (labelled from 1to N), connected
by N-1 bidirectional roads (labelled from 1 to
N-1). The i-th road connects Fort Fi to Fort Gi.
Each road cnnnectE ‘bxuctly two forts, and no
two roads connect the same pair of forts. The
Engineers of Algorythmia have constructed
these roads in minimalistic way such that there
is only a single sequence of roads connecting
any two forts surrounding Algorythmia.



PROBLEM
STATEMENT

Some forts are more difficult to climb than the
others. Goku has read nbout;gll the forts and
has given the i-th fort a difficulty level of Di.
Note that these difficulty levels are relative to
Goku's experience and expertise of hiking so it is
possible for a fort to have a negative difficulty
level (indicating that it is a very easy hike rela-
tive to Goku's expertise of hiking). =

Goku is going to 'hoist his own flags on some of
the forts. A fort is "marked" if there is a flag
hoisted on it, or then‘\e is a flag hoisted on a fort
that is directly connected to it by a road.

Goku can hoist as many or as few (even zero)
flags as per his wish. Goku seeks help from you
as you are one of the best coders in Algorythmia
to find out the maximum possible sum of diffi-
culty levels of "marked" forts that Goku can get.



INPUT FORMAT

The first line of the input gives the number of
test cases, T. T test cases follew. Each test case
begins with a line containing the integer N, the
number of forts. The second line contains N in-
tegers. The i-th of these is Di, the difficulty level
of the i-th fort. .o

Then, N-1lines follow. The i-th line gives Fi and
Gi, indicating the i-th road connects Fort Fi to
Fort Gi. -



OUTPUT
FORMAT &
CONSTRAINTS

For each test case, output the maximum possi-
ble sum of difficulty levels of "marked” forts
Goku can get.



SAMPLE
TESTCASES

(1) SAMPLE INPUT: 3
(= -
-lID4-1082030-2-37
14 -
24
43
94
=)=] "
75 '
67
79
p. |
-2202020

12
._I-

2

S
-5-108-7 -2
5S4

43

32
2 1

SAMPLE OUTPUT: 67
=]=
O



SOLUTION

1 #include <bits/stdc++.he

using namespace std;

fdefine siz{x) ({int)(x).size(})
& #wdefine allix) (x).begin{},(x).end()
#define foreach{it,a) for(__typeofi{{a).begin{}) it={a).begin();it!=(a).end(};it++)
8 #define rep{i,a,b} for {int i=(a),_ed=(b);i<_ed; i++)
9  f#define per{i,a,b} for {int i=(b)-1, ed={a);i»= ed;i--)
18 #define pb push_back
11 #define i first
1} #define se second
13 #define mkia,b) make pairi{a), (b))
14 #define fastio %

15 ios base::sync with stdio(@); %
16 cin.tie(8); 3\

17 cout.tie(d);

18

I !

g  typedef long long 11;
typedef unsigned long long wll;
typedef pair<int,inty pii;

24 const int maxN = 1888884+413;
26 int b[maxN];
vector<int> e[maxN];

2B int isselected[maxN];

@ int calc{int n) {

int ret = @;
32 for{int 1 = 1; 1 <= m} 14+) {
33 if{lsselected[i]) {
34 ret += b[i];
continue;
it '
37 for{auto tt @ e[i]) {
38 if({isselected[tt]) {
34 ret += b[i];
44 break;
t
3 1
1
14 return ret;




SOLUTION
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47 int main() {
1B fastlog
L] int T; <in > T;
58 for{int €as = 1 cas <= T3 cas ++) {

int M2 clm > N2

for{int 1 = 12 1 <= N2 1++) {
5 cin »>» b[i]:
54 e[1].clear();
5g }
5 for{int 1 = 1; 1 <« M} i++) {

int x,¥; cin »» % >> y;

e[x].pb{y);
e[y].pb{x);

£A 1

&) int ans = @3

&7 for{int 4 = @82 1 ¢ [L<eN): Lo} {
TF int %A = 1:

4 for{int 1 = 1; 1 <= N: J++) {
LR isselected[]] = tril;

£l tn >»=1;

&7 h

LR int ta = cale(M):

0 if(ta » ans) ans = ta:

FIL ) ]-

cout <« ans << ondl;

return @;




